
Objektové modelování, úkol č. 4

convert(〈i, a1, . . . , ak〉) = 〈y〉 · convert(〈a1, . . . , ak〉)
convert(〈I, a1, . . . , ak〉) = 〈Y〉 · convert(〈a1, . . . , ak〉)

convert(〈k, v, a1, . . . , ak〉) = 〈q〉 · convert(〈a1, . . . , ak〉)
convert(〈k, V, a1, . . . , ak〉) = 〈Q〉 · convert(〈a1, . . . , ak〉)
convert(〈K, v, a1, . . . , ak〉) = 〈Q〉 · convert(〈a1, . . . , ak〉)
convert(〈K, V, a1, . . . , ak〉) = 〈Q〉 · convert(〈a1, . . . , ak〉)
convert(〈␣, a1, . . . , ak〉) = convert(〈Character.toUpperCase(a1), . . . , ak〉)
convert(〈a1, . . . , ak〉) = 〈a1〉 · convert(〈a2, . . . , ak〉) jinak

convert(〈〉) = 〈〉
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